BEEESNTREZINIEIOAUEREENEBERRAESR

S NEEACER) =T
1~ RS  RHIE ? 1~ FOESIARER AR ASSHIE ? 8~ MRARHEAN » REE(BRESE
e e EE L R T E BEHERES RO T EEERN
T (REIO | 6 | 1765% TR 2 | oo @ |ERERZR?
= 26 76.47% G R A NS 16 47.06% CES RS ER A
H AN 2 5.88% WHE NG 6 17.65% JFERSY 0 0.00%
H# AN (RN 0 0.00% RKET 0.00% R7E5r 18 52.94%
IREUN 0 0.00% & Et kB 34 100.00% T 16 47.06%
T 0 0.00% RISy 0.00%
Fes 6] 36 R 2 5 0 0.00% 2+ 43?37%&%%&&&&1@@@&7%&@{1 ? JFERFS 0.00%
KERF MG 0 0.00% C 4 Vas B 5 E NN 0.00%
& Et 34 100.00% JEELF 0 0.00% & at F 34 100.00%
R’ % 19 55.88%
2~ ERIREE - BHEREH O 15 44.12% 9~ MEMEWE - BREE(REER
T w el 55 % 0.00% B)E MR EA RS S RER
SN 0.00% JEE AT 0.00% RS RAE FIERRIRER ?
FRS 0.00% RETR 0 0.00% E 4 Vag ERalss
BERL 0.00% &t 8y 34 100.00% JEEF 4y 0.00%
B AL 0.00% RAST 18 52.94%
(Eh 0.00% 3 MEE (REEHE)E A LR ? Wi 16 47.06%
R 0.00% Kz vas i = N 0.00%
A 2 5.88% S BE E 34 100.00% R ARLY 0.00%
B 1 2.94% FEAEL05 45 DL A 0 0.00% * £ 0.00%
i 0.00% FEIE10%5304 5% 0.00% & =t 34 100.00%
= 1 2.94% IBIE30E 6057 5% 0.00%
= 1 2.94% B0 #E LA I 0.00%
2 1 2.94% KT 0 0.00% FRETHE AR SN BRERW
(e 2 5.88% & {é{c 5 34 100.00% % ?
A 2 5.88% & X 8 H 7 Lh
R 1 2.94% 4~ ERRBBEE(REEHE)NVHEE IEF MR 0.00%
ER 1 2.94% RN 7 e 7 20.59%
51 2 5.88% E E g Bttt e 27 79.41%
0718 2 5.88% JEE U 0 0.00% K= 0.00%
AL 1 2.94% 1R 4 20 58.82% IEERIE 0.00%
A 1 2.94% e 14 41.18% * £ 0.00%
R 1 2.94% N %F &t # 34 100.00%
e 0 0.00% JEH AT
iR 1 2.94% E R 0.00% 11 - FHEHABNRBIEEE S
A 0 0.00% & 8y 34 100.00% R ?
TR 0 0.00% & = 8 H 7 Lh
R 0 0.00% - ERRRRE (REERE) MER IEEHE 0.00%
Em 0 0.00% ’5 PRI A 7 e 7 20.59%
T 0 0.00% x %= bl H 7 Sliy=y 27 79.41%
T 1 2.94% JERE 1 2.94% i 0 0.00%
R 1 2.94% o 18 52.94% TS 0.00%
L 1 2.94% I E 15 44.12% * £ 0.00%
st 0 0.00% ATRE SEANGEE ) 34 100.00%
FepE 1 2.94% FEHAR
il 0 0.00% FFER 0.00% 12 ~ FHRBL ¥TZ§%§IE§?%?E@%=
PR 3 8.82% &t 8y 34 100.00% EREWE
FIR% 1 2.94% & = 8 B 7 Lh
A 1 2.94% 6 - REE(REEHE)HRG)BE IEEHE 0.00%
S 1 2.94% TREAEEHRT ? S 9 26.47%
BLAE 1 2.94% x % Gt = Sliy=y 25 73.53%
FEhE 0 0.00% Hefgss 26 76.47% RiE 0.00%
il 1 2.94% B E S 0 0.00% IFERWE 0.00%
SRR 2 5.88% HHEEskE ' E R 0.00%
oEtgg 34 100.00% ﬁzé\/ﬁ%ﬁ'—% 0.00% & B 1 B 34 100.00%
R 41 5 14.71%
FKFER 3 8.82% 13 ~ FREHAE B TSR EN
& a8 34 100.00% BN - EREMR SR 7
& K Vas ERalEs
7T REE (BRESHE) A (8) IEEHE 0.00%
MR % AR RESE S 8 23.53%
HITHEERAE ? =) = e a7%
EE 8 H TR 0 0.00%
IEE TSy 0 0.00% FFERWE 0.00%
(z5%a) 18 52.94% ENECIN 0 0.00%
¥ 16 47.06% & B 34 100.00%
Ry 0.00%
FEHEAR T 0.00% 14 ~ 1114F10 5 B REE L340 -
AR R 0.00% 15 XA EEANEMEREROME: -
& &t fF B 34 100.00% it

— EFEE‘-EAZIK% AT -
T BT E RN AZEE > DENER -



